Multiplying 2 digits by 2 digits (T)

E W OEY BV E MF WE
R E K I 6 R X E O H B N
L NR 6N UGG WP D P I
E E RHT Y T H 6 I E N
Y Z DT T Y NTI NE T Y
N T TY T Y TR OF T T
Z Z X E P P T 6 Y W T R
MV NI P P WR E L UTI
E I T 6 S E A L OFP F H
NP HHO OV F Y F J T
Cc X DT WENT Y s I X
E VI FY T X I sS D V U
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Calculate the answers and find the last 2 digits of your answer in the word search.
Example: 23x 43 = 989. So find humber 89!

23x41= 34x89 = 19x81 =
56x73 = 24 x 88 = 15x56 =
98 x 55 = 53x11= 85x56 =

12x90 = 45x 77 = 24x33 =



Solution

E++E+++ 4+ + + + E

+ E+ I+ +++ 0+ +N
+ + RG+ + + W+ + + I

EERHTYTHOGTIZEN

Y + + TTYNTINZETY
+ T + Y TY TROVFTT
+ + X E + + T+ + W+ R
+ + NI + + + RE + + 1
+ I + GS ++ L O+ + H
N+ +H+ +V + + F + T
+ + + T WENTY S I X
EV I FYTXTIS+ + +






